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Question 1

There are many theories thar describe ways to lead, but every leader has his or her own leadership
style. Some of the more common styles include autocranc, bureaucratic, democtatic, and laisscz-
faire.

(1) Define each style and describe the situatons, where each one might be used.

(b) Which theory do you think that describes the best style of a successful lender? Explain your
answer.

Question 2

() Focusing on a business, of which the main acavity is production of goods and services,
explain the following:

Operations
Operadons Management

(b) What are then the responsibilities of the Operations Manager?

Queston 3

(a) “Authority is the right to perform or command.” What are the three types of aurthoriry rhat
exist i1 an organization? Buefly explain the characteristics and role of each of them.

(b) Explain why conflices berween Line and Seaff personnel can exist. Demonstrate your answer

with an example.

Question 4
(a) State clearly and briefly the scope and objectives of Human Resource Management

(b) How do HR duties of HR manger and his /her staffs relare to human resource duties of

“line managers™?
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Question 5

AAniwmer any three (3) party

() What was the need for P
o the Constitution (1987) and The P

(b) What are ¢

arltamenr o consider The Thirreenth
rovincial Councils Act No 42 of 1987>

he powers devolved 1o the provinces by the thirteench

(€) Expiain the structure of the organization of a P

(d} What are the powers vested on the Governor?

Question 6

mswer Part (u) 0F Pare (b).

Part {a}

Nao Corporation opened up a business on i
31, 2010 Nao Corporation had m

Date

rovineial Council.

anuary 1, 2010 wirh 1ssuing srocks (shares)
ade following transactions.

Amendmene?

Amendment to be brought

- As ar January

Details of the Transaction Made

January 1, 2010

—_

Tssued stocks (sh

ares) to shareholders in exchange of Rs. 2,500,000

fanuary 4, 2010

Paid Rs. 200,000 as

programme

January 8, 2010

ndvcrdsmg expenses for inigal advcrtising

Provided services o custemers for Rs. 400,000 cash

jfmunry 15,2010

7:1numy 17,2010

I

Received bill for Rs. 100.000 againse a utility cost incurred

P

rovided services ro Customers on

January 18, 2010

Paid half the amount v

account of Rs. 800,000

%
:

Jaauary 25 2010

Received 60% of the
on _]nnuar_\' 17,2003

te en the utihey bill reccived on January 15, 2003 !

l

January 28, 2019

L

Purchased a laad for Rs,
promisiag to pay the rem

amount due on the receivable thar was escablished

|

—_—

(54

1,500,000 paving Rs. 500.000 cash and
amnder i 90 days
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Prepare the journal, post each transaction into the general ledger (T accounts), balance the T
accounts and prepare the balance sheet as at January 31, 2010.

Part ()

State and explain the Fundamental Conventions and Procedural Conventions in accounting.
You may use suitable examples to demonstrate yOUur answer.

Compare and contrast Managerial :\ccouuting and Financial :\ccounting.

Question 7

(a) Explain Job Order costing versus Process costing giving a hypothetical example in each case.

{b) XYZ Corporation has calculated that it has fixed costs that consist of its lease, depreciation
of its assets, executive salaries, and property taxes. Those fixed costs add up ro Rs.
6,000,000. Their product is the widget. Their variable costs associated with producing
widgets are raw material, factory labor, and sales commissions. Variable costs have been
calculated o be Rs 80 per unit. A widget is priced at Rs 200 each, Given the above
information, calculate the breakeven pomt (BEP) for NYZ Corporation's product, the
widget. What useful information is available to NYZ Corporation from the above calculated

result?
(c) Present the above cost element on a graph paper, and verify the breakeven point.

A market research indicated rhat if the selling price of widgets is reduced by 10%, the
customer base would increase only by 30%, Should XYZ Corporation decide to switch over
to new level of operadon? Use the above graphical presentarion to explain your answer.

Question 8

{a) What are the basic parameters (4Ps) of Marketing Mix? List a¢ least 5 aspects {sub-elements)
that feature each paramerer.

(b) How would Marketing Mix help bring markering success? Explain your answer with the help
of a suitable example.

() What are the bases on which the consumer marker is segmented?
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Question 9 -

Answer Part (a) or Part (b).

Part {a)
() Define and discuss the linear programming technigue, including assumprons to be made in
formulating a problem to be sclved by and limitations of this technique.

(1) An air line has 26 aircrafts with 20 passenger seats and 13 atrcrafts with 30 passenger seats.
Fach 20-seater aircraft needs a pilor and 2 cabin crew members, while each 30-scater arceaft
needs a pilot and 5 cabin crew members. The ailine wishes to carry a least 420} passenguers
on a certain route, and has 60 cabin ¢rew members available. Formulate the problem to be
solved using linear programmuny technique.

(iif) What is the minimum number of pilorts it has to deptoy? Use graphical method.

Past (b)

() Explain “seasonality,” “cyclicalicy” and “trend” in time series.

(i) The demand lor a product in each of the fase Gve months is shown below.

Month 1 2 3 4 5

Demand (‘00s) 13 17 19 23 24

Use rwo month moving average to genetate a forecast for demand in month 6.

Apply exponential smoothing with a smoothing constant of 0.9 to generate a forecast tor
demand in monch 6.

Which of these two forecasts do vou prefer? Explun vour answer with reasons.




